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Berechne den Wachstumsfaktor g

p:

p:

q:

q:

q:

+67% gq=
+13% q=
+2,5% q=
+ 72% q-=
-38 % gq=
-11% q-=
+ 92% gq=
+ 105% gq=
+122,2% q=
+13,53% q=
+1,182% q=

Berechne den Prozentsatz

0,18 p=
0,55 p=
0,87 p=
1,84 p=
0,87 p=
0,31 p=
1,12 p=
2,46 p=
1,545 p=
1,1065 p=
2,382 p=
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Losung

q= 1,67
gq= 1,13
q= 1,25
gq= 1,72
gq= 0,62
gq= 1,89
q= 1,92
q= 2,05
q= 2,222
g= 1,1353
q= 1,01182
p= -82%
p= -45 %
p= -13%
p= + 84%
p= -13 %
p= - 69 %
p= +12%
p= +146%
p= +545%
p= +10,65%
p= +138,2%

g=1+67/100

p=(0,18 +1)+(-100)



